$i Question1 Pick 1 questions, O pts per question T+ N

i Question

1. Given the following vectors: @ =< 3,5,—-2 >, =< 2, —4,1 >.
Determine the following:

(2 points) a. 35 — 4p
(3points) b. 3.3
(3 points) c. proj;b

(4 points) d. g x b

$i Question2  Pick 1 questions, O pts per question T+ N

i1 Question

(3 points) 2. Find the distance between P(2,3,—1) and Q(5, 4, —6).




ii Question3  Pick 1 questions, O pts per question T+ NI f

i Question

(3 points) 3. Find the parametric form of the equation of the line that
passes through P(5,—4,2)and Q(3,1, —4).

ii Question4  Pick 1 questions, O pts per question T+ NI

i1 Question

(4 points) 4. Find the equation of the plane that passes through the
points P(4, 1, 3), Q(5, 2, —4), and R(3, -1, 2).




